oo0 IADOOO NO.7

GUO00O0OHFOOOODOOODOOODOOOODOGOUOOOOobOOOoDO
Udd =g 0000000

r=gy<< U0 he HOUOOOMQkh=yOOOOOO

godouobobbtgooobbobuodooobbbtitdd z=gy 00
goad

r=y (mod H)
00000 y0O HOOOODODOODDOODOODOODODDOODODOO
00000000 HOOOOOOOODMmM (mod H)O OOODOOODO
000000020000 C(x)0 20 HOOOOODOODOOOOO
gdo

00 7.1. 000000000000 = (mod H)OOO GOOODO
G/=0 G/HOOOOGUO HOOODOOOOoOoooooo

OO0 71.z00000000H=5Z2000000000O00O0
r =12 (mod H)

000000 000500000000 DODO0O00O0O0O0O0OO0O
O000ooooooon)

oo v72. 0000 1,2,3,...,n0000000000000O000O0
On0000000D006G, 000000

g 7.2.
H = {0 € &;;,0(3) =3}
goooon

() HOOODOOOOoOOoOooooo
(2 HOOOOODDODOOODDODDODOOOG;O0O0O0OOOOOODOOO
gbbbooodgbbboooobbbooodon

(3) &3 00
()

0 &6 0000 ed HUUODOOOOODDOODOODO
OO000e k0000000000

00 7.3.00006,0 &, 00000
H={0€6y0(4) =4}
doddobbboooooooouoooooobooboobon
00 74. 0000000000
H={0ce€6&,;0(n)=n}
goodon

() HO 6,,0000000000000000
(2) 6,/HO000000000000O



2 000 IAODOOO NO.7

00 7.5.00000 C,={gi;¢}=¢) 000000000

(1) 1, 00{¢3} 000000000000 H, 00000000
00000000000000000

(2) C,00{f} 000000000000 H,O0OOOOOOO
00000000000000000

3) ¢;,00{¢} 000000000000 H;00000000
00000000000000000

(4) C1o/H, (?=1,2,3) 000000000000

00 7.6. Cao = (g1;9° =e) 00 H = ({¢*}) 0000000000
000000000000000000000000000

00 7.7.n,00000000000C, 0000 HOOH = ({¢})
0000000000000HO0000000000000 C,/HO
00000000000

o0 78. n000000O0DODOO
H={0c€6,;0n)=n00 o(n—1)=n—1}
gooood

() HO 6,,0000000000000000
(2) &, 000

1 2 3 ... n—1 n 1 2 3 ... n—1 n
Z.1 Z-2 Z'3 Z.nfl Zn ’ jl j2 j3 jnfl Jn

0 HOOOOOOOOOOOOOOOOO0O0Oo
3) 6,/HOO00D0O00OOOOOO

00 79. (1)C*={zeC;2#0}0000000000000
00000000
(2) H={2€C:|z/|=1}0 C*0000000000000000
(3)C*0 HOOOOOOOODOOOO00O00000000000
000000000000

00 7.10. (01)6,00000000{}0 6,000000000
00000000000000000000000000000

00 7.11. (0 1)6,00000000{}0 6,000000000
00000000000000000000000000000



